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2.
General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper code No. 68 / ESS /1-A on the Answer-Book.

5. (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one
of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You arerequired to indicate the language you have chosen to answer in the box provided in the Answer-Book.

(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any

errors/ mistakes in understanding the question will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.
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Note :

This question paper has two sections - Section ‘A” and Section ‘B’.
Section A has 36 questions from Question No. 1 to 36. All questions are compulsory.
Section B has 11 questions from Question No. 37 to 47.

Section B has two options. Option - I : Analysis of Financial Statements. Option - II :
Application of Computers in Financial Accounting. Candidates are required to attempt

questions from one option only. All questions of an option are compulsory.
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NOTE / a9t :

(1) Answers of all questions are to be given in the Answer-Book given to you.
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(2) 15 minutes time has been allotted to read this question paper. The question paper will be distributed

at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and

will not write any answer on the answer-book during this period.
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SECTION - A / @US - 31

1.  Sale of Machinery on credit is recorded in : 1

(A) Sales Book (B) Journal Proper (C) Bank Pass-Book (D) Cash Book
SUR T WA % forsha 1 o gnm
(A) faska g (B) fmISHAM= (C) ¥ TE-TH (D) ke =&

2. Liabilities of a firm are ¥ 8,000 and total Assets are I 20,000. What is the capital of the 1
proprietor ?
T Y I IAE T 8,000 § T FoT Hufadi < 20,000 § | TTH Hi Yt T S 2
(A) ¥ 20,000 (B) ¥ 28,000 (©) % 12,000 (D) ¥ 8,000

3. Which of the following is not an error of principle ? 1

(A) Purchase Book is totalled ¥ 20,000 instead of I 15,500.

(B) Repairs on the overhauling of second hand machinery purchased is not recorded in the
books of accounts.

(C) Typewriter purchased for office use has been debited to Purchases Accounts.

(D) Sale of an old car credited sales Account.

frefafea & 9 &1 o fagr =t o1yfs & 82

A) I TH H FA g T 15,500 H =M T 20,000 B T4

T QAT TR % Ttehor WX foRa T TRed W 9T 1 ol YEIehl § kel ot 7@ TR A
C) SHd ST o AT TEWRER H <@l hd @Id o A1 q& H foman T

D) T& qUHT %R < forshar 1 o faska @id o S 981 | fohan T

B
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4.  Which of the following sub-unit of central processing unit stores data before being actually 1
processed ?

(A) Control Unit (B) Memory Unit
(C) Logic Unit (D) Output Unit

frafafed § ¥ HEg TEER0 THE S i Gl ST-3HE g T § T8d S Tl HIEh
T § 2

(A) “held gfe (B) WA e
(C) s (a) Ffre (D) @STYE FfFe
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5.  ‘Life-Membership-fee’ received by Not-For-Profit Organisation is shown as : 1
(A) Income in ‘Income and Expenditure Account’
(B) Expenditure in ‘Income and Expenditure Account’
(C) Payment in ‘Receipts and Payments Account’
(

D) Capital receipt and added in the capital fund of Balance sheet

Teh STATYRR] T g 9T i T2 3TTSie TeEdl Wil bl fegman San €
(A) ‘ST I @M’ | 3 &k €9 H

(B) ‘ST g @’ H =k w9 H

(C) ‘'Wiftd- T @rd’ | 97 % €9 H

(D) UsinTa wifta fomy fearfa foremor & st o & Sire fean s #)

6.  Balance of Provision for Doubtful Debts as on 15t April 2023 was % 2,500. Bad debts during 1
the year were X 600. A provision for Doubtful Debts is to be credited @ 5% on debtors of
< 20,000. Provision for doubtful Debts credited to Profit and Loss Account will be :

1 27t 2023 I GieTe KON % WM T A9 T 2,500 9 F SR 1WA H0Z 600 T 20,000 F
TTERI W 5% i < A TieTe 501 WEeH 1 Goir foham 71| oy g1f @ o S vat | ey o
IaE i fRat i o1 e foran s ?

(A) X 800 (B) ¥ 1,000 (©) T 1,200 (D) 900
7. Which of the following account is prepared by a Not-For-Profit Organisation ? 1
(A) Trading Account (B) Income and Expenditure Account
(C) Profit and Loss Account (D) Total Creditors Account
frafafed 4 9§ T Sreverl dee g1 I | @1 T fw S g 2
(A) AR @ (B) 3T =T Wl
(C) <4 = @ral (D) FdA TR @l
8.  Which of the following is treated as unrecorded asset ? 1

(A) Sale of old Furniture
(B) Goodwill appearing in the Balance Sheet
(C) Bad debts recovered, written off in previous year

(D) Sale of Investments

frefafea § & &1 @ sifafaa dufd 872
(A) YU HATeR 6 fasha

(B) Trafa foeror § wefia enfa

(C) Tusal = & e7urer 9 syufcfed o
(D) frroren o1 fosha

)
)
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9.  When realisation expenses are paid by a partner on behalf of the firm, which of the following 1
account is credited ?

(A) Realisation Account (B) Cash Account

(C) Partner’s Capital Account (D) Expense Account

9 Il A9 F YA HH & AR G T F=eR 5] foha S § f frefafed 9§ 9 feva @ &
SHT-veY H T feRa S 8 2

(A) aH! @ (B) kg @l
(C) HTERR & dsht @ (D) = @l
10. Gain of a partner is : 1

(A) Existing (Old) Ratio - New Ratio (B) New Ratio - Existing (Old) Ratio
(C) New Ratio - Sacrificing Ratio (D) Sacrificing Ratio - New Ratio
T HIEIER 1 AR 2 :

(A) FFH () ST - T ST (B) T ST — A () ST
(C) =0 AFUIG - AT 3THId (D) 0T AFAId — A1 AT

11. A firm earns profit of I 1,30,000 on a capital of ¥ 10,00,000 and normal rate of return in 1
similar business is 10%, super profit will be :

T W  10,00,000 T ISt T T 1,30,000 1 AT TS Il § | 39 TE & 3T HIHE! Sl T
A W10% B, @ A (super profit) FT BT 2
(A) ¥ 1,00,000 (B) ¥ 1,30,000 (C) ¥ 30,000 (D) ¥ 1,13,000

12. If a share of ¥ 10 on which X 8 called up and X 5 paid up has been forfeited the share capital. 1
Account will be debited by :

7fg T 10 % 7% 579 R T 8 T 7T & IR T 5 1 T a1 T §, BT W=d feman wq o ofw gei
Wd & 9 987 ° foa afen <1 oian foran simaem 2
(A) 10 (B) T8 ©) %5 (D) X6

13. In case of profit on re-issue of forfeited share is, it is transferred to : 1
(A) General Reserve Account
(B) Capital Reserve Account
(C) Securities Premium Reserve Account
(D) Share Capital Account

= A9 o AT W gy oy 1 ford @ o gEdiafia fohan S § 2

(A) HHEH GO Gl
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14.

15.

16.

17.

18.

19.

If a share of ¥ 10 each on which X 9 called up (including premium of X 2) and I 7 paid up
(including premium of X 1) is forfeited Securities Premium Reserve Account will be debited
by :

(A) 2 (B) 1 (C) Zero (D) %3

AT 10 TS o A9 Fo W T 9 A feg @ & (598 3 2 o1 Nifiem ot wftwfera §) afea 778 ara
T (SEH 3 1 =1 Hifw wfwfed @) o1 Ssd fohan s o gfayfa Whiftem == @ & W v 8 faan

ST :

(A) 2 B) %1 <O A (D) %3

As per Rules of Accounting, Increase in Assetis __ and decrease in Asset is
iR el & TR, dufaal § gfg =i ge7 H foran S ® den dufadi § &
IGEC]] ey § e ST R

Give one word answer for the following :
(i) Depreciation reduces the value of
(i) Transactions, when recorded in Journal, are known as

Frfafed o ST T wse 7 SIS
(i) B9 HH R @
(i) T TR T oREl JSTEE | B STl © dl 3H gl S §

Complete the following :
The mostly used input devices are keyboard, and

Frefafea s qu wifsT -
oy Afeh ST &l M et 3792 feaes wierE, 3R g

Give one word answer to the following :

(i)  Which account will be debited on money withdrawn from Bank for personal use ?

(i) Which facility is offered to store and process transaction data in computerised accounting
system to retrieve information to generate and view financial reports.

Frfafed 1 s T wss | i

() AR T % fau S 9§ T AR w1 fohd @rd & AW v H foen smem 2

(i) facia fdd s9M iR SR & I =@ 9 i g FPRRdishd oreich Yol § Ted o S
1 HUE iR FEIfed w1 & fa e o giaemd yem i S § 2

Give one word answer.

(i)  Atthe time of retirement of a partner, Loss on revaluation will be debited to the partners
Capital Account in which Ratio ?

(i) After the preparation of realisation account, gain or loss on realisation is transferred to

TF ¥ § S A

(i) T URER S HAgRa R [THeAh W i g1 WeRRl % Yoit @i | fond 1 & ey
o forglt st ?

(i) S QAT TR & S T SHh Y LT T hl gl TR TR ST 2

1x2

1x2

1x2

1x2

1x2
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20.

21.

22.

23.

Fill in the blanks. 1x2

(i) At the time of death of a partner his/her executer is entitled to all the rights of a

(ii) At the time of dissolution of partnership firm balance of general reserve is transferred
to__

TR T i

() TH UEER & g & 915 ITh STHRT ! & ot Afeer e S £

(i) ®H % fOEeT % G W O % 9 HT T 1 B B

Write names of affected accounts while making Journal Entries of the following transactions : 1x4

(i) Goods sold for cash (i) Goods purchased on credit

(iii) Salaries paid (iv) Depreciation charged on furniture

frfafEd -7 % 921 @ wfate § e @ o T S|

(i) HIA A Tohg fosnd (ii) A T YR A

(it) YA feRan T A (iv) TRETeR O B T T

Give a name of the accounting error for the following transactions : 1x4

(i)  Wages paid for the construction of office debited to wages account.

(i) Goods sold for X 4,200 to Hari Om on credit were omitted from the accounts although
cash received.

(i) Purchase of Furniture is entered in Purchase Book.

(iv) Gurman’s Account was short credited by I 1,000 while Manisha’s Account was excess
credited by < 1,000.

frefafead oFedl o fau oraied ey 1 9w ST

() AR o o & fore < 18 Asigd o1 oren wsigl @rd ok AW e § R T

(i) SR 3T = T 4,200 1 1A SUR =1 T IHHT @ fohelt @A H 21 goTl Salfch SHBT ThG
A off 9T & T

(iti) TR 1 WS T G S sk | fohan T

(iv) TRHM % @M o SE-94 H T 1,000 FH forg T Sefer 7 %k @1d ok SH-98 H T 1,000
afferen forg Tu |

Give one word answer to the following questions : 1x4

(i)  Which account shows Surplus or Deficit in case of Not-For-Profit organisation.

(i) When proprietor draws goods from the business for his/her personal use, it is known
as ?

(iii) Net Purchases=Cash Purchases + Credit Purchases — .

(iv) While preparing Income and Expenditure A/c of a Not-For-Profit organisation *Accrued
Interest’ is shown on which side ?

Frfafed gei o1 ST T v | e

(i) TR Heeel % wrdl # fohe @ § sifeny an & fem St €

(i) T T HFEE ¥ U T ARG WA % fere fshTerdr €, @ 9% wEand § 2

(i) TG FA="ThS HI+IUR FT — |

(iv) STTHHRRI HEA1 o foTu STer-=2r @il oA 994 * SAfsid =1’ sl fohe 3T/ a1 H, fo@men s
€2

~—"
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24.

25.

26.

27.

Give one word answer of the following :

A share of ¥ 10 issued at a premium of X 2 on which the full amount is called up and
X 7 is received, share capital Account will be credited by ?

That part of share capital which is uncalled and kept in reserve is known as ?
State any one purpose for which securities premium reserve amount can be utilized.

When shares are issued to promoters of the company as remuneration for their services
which account is debited ?

frfafad & fow s vsg o SR Sifee

@)

(i)
(ii)
(iv)

2FxfRea AT 10 fa & Tk S I R QO T HT a= A gt |, T7 € I gu |
3791 STt Wt o S get B ¥ foedt s 2

3191 Ui T 8 T FSTeeht e 6 i S ST 38 S/ T TN Sl §, Healid § 2
HIE T I Fargd foroeh faw wfayfa difiem == & &1 S5 fhan s a2

el ShFIAT o Feldeh! hl SRt Harsll o Tt qiisfies & ®9 # o191 W) forT Sid € o s 9
@M & 9 99 § o fonan S § 2

What is meant by “Unearned Income’? Give accounting treatment and Adjustment entry of
unearned income.

‘IfSia o’ o o 3 €2 sMfSa ot & faw e faemm iR gamEeH yfafte difsw)

@)

(i)

Pass necessary Journal Entry when :
(@)  An unrecorded liability has been discharged by the firm.
(b)  An unrecorded liability is discharged by a partner on behalf of the firm.

ATerRFeh ST gfefte i S

(a) WH gr forelt sifafad <an st sram foman e 2

(b) TRl WEIER gR wH o T fersll <o =1 7T fehan T & |
OR/37eraT

Give necessary Journal Entry for treatment of goodwill on retirement of a partner stating
the ratio in which goodwill is to be distributed.

TR & HaHgid W &Ad R & Ty Aavde JsHAmn gfafte dfee) 38 @fd &
foraror 519 o77ara # B 36! Seor@ ot hifSw

Give the meaning of Sacrificing Ratio. How it is calculated ?
TN 3T 1 1] AT THHT TUAT FY T WA T 2
OR/31daT

If at the time of retirement/death of a partner, goodwill already appears in the balance
sheet, how will it be treated ? Also give the necessary Journal Entry.

Ifc FRRR i Harfgia/qe & T9a feufa faawo o enfa 9eer 9 & yehia & af 3ue
ATl Tohd YehR ol ST 2 STasdesh ST Jidie ot S |

1x4
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28. (i) Explain how re-issue of Forfeited shares at discount is recorded in the books of accounts. 2
= A o o R GH:FFET 1 g oran JEaenl | 59 T s g2 faero i
OR/3aT
(i) Explain how issue of shares for consideration other than cash is recorded in the books
of accounts.
forR & THeed foh Uhs o AfdiRaa fohdll 1= gfawal < sicet 319l < FieA o1 o et
I WY&l § FY R < § 2
29. (i) Explain how “Total Purchases” are ascertained from Incomplete to Records. 3
foraror Gifsre 6 o1 erfvreral | ‘pat sha’ o1 Freier 9 T S 82
OR/3aT
(i) While preparing financial statements of a proprietor, how ‘Drawings of Goods by
proprietor’ is recorded in the books of accounts. Also pass the necessary journal entries.
Tt g foita foreror TaR td 99 - T R o799 WA o e sqsii o ST &l oral
FY fran S €2 s9F fan stavae Asrg=n gfaftes o sifaa )
30. (i) From the following information, calculate ‘Total Sales” made during the period. 3
4
Debtors as on 15t April, 2023 40,800
Cash received from Debtors 1,21,600
Sales Returns 10,800
Bad Debts 4,800
Debtors as on March 31st, 2024 55,200
Cash Sales 1,13,600
frefafed gammel & ouR W T s1afy % SR ‘Fa faska’ & o i |
4
1 3T 2023 I TN 40,800
TERI & I Jhs 1,21,600
IEERICIER] 10,800
SIS R 4,800
HrE 31, 2024 %1 <ER 55,200
T faspa 1,13,600
OR/3aT
(=3[
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(i) A club has paid rent of ¥ 20,000 during the year 2023-24. Rent still to be paid amounts
to I 2,000. Amount of ¥ 1,500 was paid in 2022-23 on account of the year 2023-24.

Rent paid in advance for the year 2024-25 in the year 2023-24 amounted to I 3,500.

Calculate the amount to be shown in Income and Expenditure Account of 2023-24.
Also give the entry for Rent due but not paid.

Teh FeTel = ¥ 2023-24 % SR T 20,000 T TR feam | sreprn fhame =6t Tf¥r 22,000 €1 a4
2022-23 ® 1,500 % TRU& 1 A a9 2023-24 o foQ fopan e o

¥ 2023-24 H g 2024-25 % fau s1fm e forw o foRe@ &6t wf¥n € 23,5001

9 2023-24 & fATT 3I-=97 WId H YSi¥id aht ST arett e st Ui =) 7o Sifse ) are &
T T forgent e =18t e o § ot wfafe off Sifs

31. (i) Explain the adjustment of existing partner’s capital on the basis of the capital of the 3
new partner and give Journal entry when excess amount is withdrawn by the partner.

T FWEER i ST % YR R T/ TTamm FEerl wF ISt & THESH 6t S SHifsg qe
¥ enferea 61 U AERRT g HeEr™ | e ot Jsmen gfafte s
OR/1rET

(i) Give any three points of difference between Dissolution of partnership and Dissolution
of partnership firm.

e o R WH % faue § ofa % w1 o feig S

32. Give meaning of : 3
(a) Authorised Capital

(b) Issued Capital

(c) Subscribed Capital

(a)  iferpd ISft/ ool IS

(b)  Forfe i

() Ifvem sit =t a1ef S

33. (i) State any three purposes for which securities premium amount can be utilized under 3
the Companies Act.

et sAfufem o ergar gfayfa diftem it I & ST & fedl 39 3@l a1 Iore
HifsTT |

OR/2T9raT
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(i) Whatis meant by Pro-rata allotment of shares ? State how unpaid amount on allotment
and calls money of shares held by the shareholder is calculated in case of pro-rata
allotment of shares.

313l & TR 3Teie o1 3T 31ef € 2 AT oTsied shi feafd § weh Sioramdt gry ammies =
AT TR R T A A R i ferfa & oot g/ <7 Ui i 701 fhe TehR T STt © 2
et il |

34. (i) From the following Trial Balance of MB Garments as on 315t March 2024, prepare 5
Trading Account and Profit and Loss Account for the year ended 315t March 2024 and
Balance sheet as on that date.

Dr Cr
Name of the Accounts Amount Amount
§9) ®)
Capital 80,000
Cash in hand 570
Cash at Bank 5,600
Purchases 53,200
Sales 78,000
Carriage inward 2,040
Carriage outward 3,200
Stock (1% April, 2023) 10,790
Machinery 60,000
Salaries 4,000
Insurance Premium 600
Sundry Debtors 28,000
Sundry Creditors 10,000
Total 1,68,000 1,68,000

Following adjustments are to be accounted for :

i)  Stock on 31.3.2024 was < 10,000.

iif) ~Salaries for the month of March outstanding was I 1,200

(

(i) Machinery to be depreciated @ 10% p.a.

(

(iv) Insurance Premium paid for one year ending 30th September 2024 was ¥ 300.

[ 3 [m]
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Frefafad T o MHeH & 31 71 2024 & o9 9 31 A9 2024 %1 FHE & a1el 99 o fog
R @Tdl, T9-e1f9 @ o 39 fafer <1 feafq faero Tom swifsu

a3 T am SRR
() (%)
oSt 80,000
T TS 570
S T 5,600
w9 53,200
Toma 78,000
WTeT (3TTaf) 2,040
et (aret) 3,200
i (1 a1da 2023) 10,790
Ty 60,000
ELE| 4,000
ST fifem 600
fafaer =R 28,000
fafoy Ser 10,000
ste 1,68,000|  1,68,000
@il # freAfafaa garieE ot s

(i)  31.3.2024 I T=fF T 10,000 |
(i) FOMTE W 10% 1 R Y FF M|

(iii) TS % WEN % IqT BT YA Tl g ¥ 318 9 T 1,200 T

(iv) o Hifiem uftr 3300 § fSmeR e 30 faarer 2024 1 THT g ATt 99 o ferg
[ERIRE

OR/219raT
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(i) From the following information of Young Ladies Club. Prepare Income and Expenditure
Account, the year ended 315t March 2024.

Particulars Amount
(%)
Salaries Paid 55,000
Lighting and heating 16,000

Printing and Stationery (including ¥ 5,000 for previous year) 3,500
Subscription received (including ¥ 2,000 received in advance

and ¥ 5,000 for the previous year) 40,000
Net proceeds of refreshment Room 45,000
Interest paid on Loan for half year 1,200
Rent and Rates (including ¥ 1,000 prepaid) 7,500
Locker rent received 4,500

Additional Information :
Subscriptions outstanding on 31.3.2024 were X 8,000. Half year’s interest on loan

was also outstanding.

Frefafed geel o STUR W AT wifes Fa0e o faq 31 A= 2024 I GHG 8H a1el o9

foTT sTI-=99 @l JaR HifeT
- uf¥
})
EUCIEREDIKIRICKE] 55,000
ATl a ifen 16,000
i 7 e (fSraw ¥ 5,000 foet o & fore wifrifera 2) 3,500
T et (R % 2,000 37t o o1 31w sy £ 3 2 5,000 40,000
st o & fa @)
ST e ¥ I 45,000
RN T AL ST HT PTaH 1,200
fortr wa o (3 1,000 ST ) 7,500
TehL oI STed 5311 4,500
stfafta Wﬂi :

31.3.2024 1 3TeT =T T 8,000; U1 1 eIt =TS 1 PTAH +ff 31T T
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35. A, B and C are partners sharing profits and losses in the ratio of 5 : 3 : 2. Their Balance sheet 5
as at 315t March, 2024 was as follows :

Liabilities 4 Assets 4
Sundry Creditors 24,000|Cash at Bank 37,000
General Reserve 36,000(Sundry Debtors 44,000
Capital Accounts Stock 1,20,000
A 2,00,000 Machinery 1,59,000
B 1,50,000 Building 2,00,000
C 1,50,000 | 5,00,000

5,60,000 5,60,000

N is admitted as a new partner and assets are revalued and liabilities are reassessed as follows :
(i)  Stock to be valued at ¥ 1,30,000.

(i) Machinery to be depreciated by 10%.

(iii) A provision for doubtful debts is to be made on Debtors @ 5%.

(iv) A liability for ¥ 250 included in sundry creditors is not likely to arise.

Pass necessary Journal entries before admissions of N.

A, B 3R C TRICR € S 3197 & IR =9 5: 3 : 2 % STUM H died § | 31 HIE 2024 w1 k! feafa
e frfafea ©

3Fard 4 gfufaat 4

fafarer orer 24,0005 % e 37,000
= &Y 36,000 |fafay e9er 44,000
It @ wish 1,20,000
A 2,00,000 aIfiaa 1,59,000
B 1,50,000 aq 2,00,000
C 1,50,000 | 5,00,000

5,60,000 5,60,000

T WER N 1 Jarw1 fean 7o qen Safadl o st sl qA: et fhan 7 s fh f ¢
(i) Tk w1 god T 1,30,000 ST A |

(i) AR T 10% hT B AT T |

(iif) SRR W 5% hi ST 9 WG SHOT ShIT SHE S |

(iv) fafae FeRl & & T 250 & T AFCRI 1 e U 8 T ¥

N & Jo9 § Tget i Feft Istr=n gfaftear sifer |
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36.

H.K. Ltd. offered to public for subscription 30,000 shares of ¥ 100 cash payable as :
On application - X 30 per share

On allotment - X 30 per share

On first and final call - Balance

Applications were received for 40,000 shares. Application for 5,000 shares were rejected
all together and application money was returned. The excess application money received
was adjusted towards sum due on allotment. Calls were made and duly received except
a shareholder holding 500 shares did not pay the call money.

Pass necessary journal entries in the books of the company.

TA.%. fa. 7 S &1 100 I o 30,000 A9 SR fohu, Fep1 ST 36 WhR ST ©
3TeeT W-3 30 i A
& W-T 30 fd 3w

g 9 SAfaH I W - 99

40,000 39 % feTT TS Y L1 5,000 0 bl Y TE 9§ TEelTehr L feam T qern e
T AU F TG | SRS ok WY YT §s ATeIeh TN FHESH 3Teied § fohan ST | 3=
Tfer Harg T IR g A U g2 fah ue Siwen B Siewt e 9™ 500 319 & SR 9%
STYL =T IR R A 81 L 9|
FHEAT i TEIehl | STETEH A= Ffaftedr Hifsa |

OR / 3terar

L.M. Ltd. issued 2,00,000 shares of X 10 each at a premium of X 4 per share payable as
follows :

On application - ¥ 5 (including premium of X 3 per share)
On allotment - X 7 (including premium of X 1 per share)
On call - X 2 per share

Applications were received for 2,00,000 shares and allotment was made to all. All
money due was received.

Pass necessary Journal entries in the books of the company.

oA, fafiee 1 9fd 3f91 T 10 % 2,00,000 3790 o1 T 4 Wiz @ S foran fSreemt e fe
TR H BT

e W - T 5 (% 3 ufa ofw Hifem wnfiat §1)

eled W - T 7 (T 1 9fa 7w wifaaw wfee ®1)

I W - T2 Gid 39

2,00,000 3731 o foTu eTrered yre gU SR |eft =l 39 safeq fhd )
FHEET T Y&l B ST AT Ffaftedr Hife |
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SECTION - B/ @UE - &

Attempt any one of the optional Module.
Yeh{eueh AISIeH | § hig Ueh g |
OPTIONAL MODULE - 1/ Sehfcdeh WieTe - 1
(Analysis of Financial Statements) / ( fa=it=r faeRon a1 fagersor)

37. Ideal Current Ratio is : 1
QY =T ST BT @
(A 1:1 (B) 1:2 < 1:3 (D) 2:1

38. “Cash from operating activities” will decrease due to : 1
(A) Increase in Current Assets (B) Decrease in Current Liabilities

(C) Increase in Current Liabilities (D) Both (A) and (B) above
" e Topatetl 9 Uhs'’ HaTe Y 81T TS

(A) =Te] Hufqai =g S | (B) el SIATC ¥ Bl ST |
(C) e AL g ST | (D) (A) 3R (B) S |
39. ‘Dividend received” by other than financial enterprise is shown in cash flow statement under : 1
(A) Operating Activities (B) Investing Activities
(C) Financing Activities (D) General Activities
Toita Hem & Afafieaa ‘araier wifa’ =l Ashs Jare faax | fohges efwaia fe@mn smam ?
(A) HaTeH fepamd (B) o fopamd
(C) forciter fshame (D) 9= foRamd

40. Cash Balance X 15,000, Trade Receivables ¥ 35,000, Inventory X 40,000, Trade payables 1
T 24,000; Bank overdraft is ¥ 6,000 Current Ratio will be :

AFS 9 T 15,000; AR i T 35,000; Rl T 40,000; SATNRE SAIRAT T 24,0005 96

sifafaerd T 6,000 =] 31U BT
(A) 375:1 (B) 3:1 <G 1:3 (D) 1:3.75
41. Debt equity ratio indicates risky financial position from the long term print of view if it 1
exceeds :
SreehTet= gfte |, o1 Har STua sifed v fefd 6t @R 3o et © afe o 9 s o
(A 1:1 (B) 1:2 <© 2:1 (D) 3:1
42. Angel Ltd., a stock broker, purchase 5,000 shares of Tata Housing Ltd., it is a : 1
(A) Operating Activity (B) Investing Activity
(C) Financing Activity (D) General Activity
T T, S fof SRR g €, 1 2 eRfd fa. % 5,000 S w1 A R Ae R gt
INEREISERER (B) frorwr fomanm
(C) Tz fshan (D) wE= fshan
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43.

44.

45.

46.

47.

Complete the following Sentences :

(i) In cash flow statement the amount of interim dividend paid during the year is shown
as ?

(i) Buy back of equity shares is shown as cash outflow from which type of activity ?
11 el o1 qU IS

() Uhe yarg foero # o % <R faafia sfafm enrer F3 fewmen S € 2

(i) P A I TR Uohe vae faaww § forg fifan 3 stafa fewr st 2

What is meant by cash flow statement ? State two objectives of preparing cash flow statement.

Uehe AT foemor =1 1 o1 ¥ 2 Aehg WaTe foeRor & T 329l o1 Sooid hifad |

Calculate the gross profit ratio from the following data :
Sales X 3,25,000; Sales returns < 25,000 and Cost of revenue from operations < 2,40,000.

frefafed geell § "o oY ST i 70T hifeg
forept ¥ 3,25,000; fosht Tt ¥ 25,000; =T 9 3TH i @M T 2,40,000

State any three limitations of cash flow statement.

ks JaTe Taaxor i Tl o SIS 1 Seer@ hifad |

From the following information, prepare Cash Flow statement for the year ended
315t March, 2024.

Particulars 3
Opening Cash Balance 20,000
Closing Cash Balance 52,000
Increase in Debtors 20,000
Decrease in Trade Receivables 10,000
Decrease in Creditors 12,000
Increase in Trade Payables 14,000
Purchased Land 1,60,000
Sale of Fixed assets 1,40,000
Issue of Equity Shares 1,20,000
Redemption of Debentures 1,00,000
Net Profit before Tax and Extra-Ordinary Items | 40,000

1x2
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37.

38.

[ 3 [m]
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Frefafead gemmed | 31 7€ 2024 1 FAG 1 ot 99 & fa Tehe garg foeor s |

IEERUI 4
TR R I 20,000
3y kg I 52,000
e 4 gfg 20,000
ST Wit | st 10,000
TG St 12,000
ST T-aTE § gha 14,000
ot 1 1,60,000
Tl gt i foght 1,40,000
ot A 1 i 1,20,000
SRUTOT T INEM 1,00,000
L T STETER 7a1 § I4 6 19 40,000

OPTIONAL MODULE - II / Jfeaeh AiSTet - 11
(Application of Computers in Financial Accounting)

(P o1 fafaa eraien | 3uanT )

Data Base management system overcomes the limitation such as :
(A) Data redundancy and inconsistency
(B) Data isolation
(C) Data duplicity
(D) All of the above
S Yol# YOIl %S FehR oht Harell & e it § 99 ¢
(A) BT SAfakeh T STETad
B) EIET YYUhIhIUl

(
(C) STl I BRI
(D) Wi a4t

Which of the following Component of MS Access is used to create various reports as per the
requirement of the end user ?

(A) Table Object (B) Report Object (C) Forms Object (D) Queries

3ifaH JERTeRT wht ATEvIRAAR fafy= Rdiel o1 Yo e o fau FH=fafed # 9§ Ty, e &
8wk 1 YA fohan S & 2

(A) A Ao (B) TUR sffssige (C) Wi 3Afssidle (D) doS




39. Once the data types is specified M.S Acess allows designer to define properties of each column. 1
In the context of text data type one of the general properties relate to ‘Caption” which means :

(A) single, double or decimal type of numbers

(B) how the field's contents are displayed

(C) specifying a value for new entries of data records

(D) alabel used for the field in data sheet and on forms and reports

TF 91 59 TR YR fafer<isa & a1 § @ TH.0d. W9 TR@H Sl Jh WY & Al ol
IR T h STFEM AT ]| TR T2 YR F Hed H AT - Fwm v o1 ¥

(A) HEAS % Tohd, Tl YA WHAT ThR |

(B) & =i T wrmft 9 <wifg 7€ )

(C) =T sAfveral it 8 yfaftedl &g Al o1 oo |
(D) ST ¥ie, Tl aur Al < &5 7q Y fohall T oieret |

40. Calling cells by just their columns and row labels is called : 1
(A) Absolute referencing (B) Mixed referencing
(C) Relative referencing (D) Both (A) and (B)
RSS! ol et Ufekal IR Tl & 0 | YHRAT Heand ¢ :
(A) Ty ded (B) fufsa g
(C) Wt Hey (D) (A) @ (B) T
41. In Excel software Pie chart cannot plot more than : 1
(A) Seven Categories (B) Four Categories
(C) Ten Categories (D) Eight Categories
TS WieeR | g Eies § sHd St Afvri siferd e bt ST weh!
(A) ¥a g (B) =R fvri
(C) <§ Ao (D) 73 Afvr

42. Which element of a chart provides the additional information about a data marker to identify 1
the details of data point in a data series ?

(A) The legend (B) The Data Labels

(C) The Data points (D) The plot area

1S T I | TF TTeT W i AR o1 St Ut ¢ fSos o grer goit # a1 fag &
R H foreroll sl 9= Wek ?

(A) diSig (B) T SRl o
(C) = fag (D) e &

43. The Net salary payable to an employee is obtained by deducting from . Ix2
T HUARI Sl T Y§ I e & g s I FAT ST T
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44.

45.

46.

47.

State the earning elements used in Pay Roll calculations. Also state how these are
calculated ?

T A I TOFT U SASHIST o FShl T ool hioT | T8 T Sooid hifsu foh 3TeRt TOMT Hd
I S § 2

Write the steps involved for copy a chart to word.

Teh 91E &l IS H hidt i # gimfea = fafen

Explain formatting the chart using design option.

“ fesrg faehed’! o1 TAIT L =TS 1 Sl BIEE foma ST €, sare it |

Ms. Babita is a Teacher in Maths Department of a school. Suddenly she admitted to a hospital
for her heart operation. The grades for MIDTERM of class IX have to be entered into the
Data Base by today itself. Babita has provided the list of students with marked grades to
you. Itis as follows :

Pinky B Kiran At
Shreya  A* Iqra B+
Sakshi A Suman Ct
Jia C Shivika B
Ishita D Rani C
Ashu C Anjali D

Enter the above data in the data base.

Ms. S&idl Tk foamera & Tfor faum & erenfust 1 s/ foat ot Siui & Rl 3§ s1oudrel §
ot g vl | faener™ ot weArafy dansi 7 wam & I oA & S 99 H yfaw= g ¥ 1 sHfen
S ¥ B 9 3h Aol (YN HF G Rt X < R, S ok Frafafed ®

fent B foto AT
2RIl At EC B+
qreft A A oy
ot C forfsht B

e D T C

EIININ C FsTedt D

ST ST I S o7 H Yfaw i |

-00o0-
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